DG012-ATV
Multi chassis_4WD kit
(ATV version)

Parts list:

Aluminum chassis

M3*8 flat-head

M2.5*20 M2.5*25

I
I
_|
I
|
I
I
I
I
I
I
I
I
I
I
I
I
I
I
|
I
_|
I
|
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

|
I
I
I
I
:
I
|
_screw6pcs screw 4pcs screw 4pcs _i
@ : :
I I
g ! !
I I
| |
I I
I I
I I
"‘"r 1 1
'[::::’ i |
i i Spanner
M2.5 nylon M3nut2pcs 1 S5kAAbattery 1 (M2.5&M4)1pc 1 Screw driver 1pc
nut 8pcs | holder 1po _ | (M28&M3)Tpc__

Assembly Instructions:

Step1: 7

Assembly the
gear box 4pcs

Use the ruler to check the
length of your screws .

omm 10mm 20mm 30mm  40mm 50mm

Oinch 1inch 2inch




hed

inis

F

S
£
_ N
_ £
i ,
I
— _ mlm
I
s _ WSnmv
— ‘1
S>30 ! ¢
haUh _ h_.lm h
SOS..m | CoSum |
higyel _ |
222 | 223 £
e.U ‘.w _ o
mdba | =
Tcs5 8 | 53
c o2 | 23
ama.w _ °2
5533 |
HH B
howm.L _ =5t h
W..w.nco...nﬂu ! Sn m
eg..hLSh _ 38 m
=c YS_ 5
t.Ihm.l _ m
e558% |
ae .
etr
T5 S _
mmstm !




	页 1
	页 2

